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[1] DIN(ug-at. /L) No. 3
H21 | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | 104 | Ri &
10/28 | 11/4 | 10/31]10/31 | 10/30 | 10/30 | 10/27 | 11/1 | 10/31]|10/30 | F5 | 10/29 AR
2510660 1.7 4.2 26 814037 1.1 FloH A
4.310.8 2.712.8(137]139]40(86]3.7]38]23]|= H|7H *
5.3 3.7 804253 it aloh A
6.1 3165 2.8 4.6 | 1|75 4
551 1.8|[6.6] 2.7 4.2 ' OH 2(7H 4
7.8 1271 7.4|13.8(46|57|46|41]10.1]50(56]1.9]|k #® 1\ MohA
= 1|7h A
= 2|7 hA
10.8( 4.9 (6.8 80(12.3(7.9|84]|5. 7|5 M & 1|74H*4
4.4 151511439149 |55]|3.4| M B 2/7hH+4
491201 4.2 4.1 2.2 3.5 O’ FM|ThA
B OH 1|75 4
B OH 2(7H 4
B OH 3|7 HA
5113.2(53|108]63(27]29]|21(100(3.4]|42]1.3|E =& 1lsasy
4.2 1135311562439 22[7.5([39|37|1L1]|E & 2|40/
56 11.3[52109]59(26|31]26|[7.2|134|38|14|E =& 3lym/ Yy
2.9110.0(3.7| 55|46 | & alya/
7.1 (1.0 7.8|0.7[6.7]3.6 251 7.7(13745]26 ] i A=Pa!
581 1.5[7.607]59]|29 2.7 125.6(2.9(6.2]20.3} A 2|40/
4.8 14155105 ]24.2(3.3 3.0 |14.5( 6.7 | 7.4 119.0 ] alya/
201 9.9 | 3.1 6.5 8.0 114.7(4.316.9]9.5 /0 B B @®|7H+
2.7110.8| 4.7 7.8 4.9 110.2|55|[6.7]7.4|/ B B @7H+
3.1[110.2( 3.8 6.7 6.9 195(84|69]|7.5/ B B Q7Ht
1.3185] 1.9 2.3 1 9.1 4.6 5 Z(oH A
41108(7.711.6|143[53|31]21]7.9(1.4]|48]|6.1]|5 = 1lza/sy
4111.5(7.8[1.6]15.2(2.2|45]19]9.3([1.2]|49]|6.2|5 = 2|40/
40108(7.711.4]16.0(1.8|48|20]9.4(1.1]49]|55]|5 = 3lym/ Y
35108 (7.0 1.2[159(1.9|147]20(9.6|1.5]|48]42]|+ = 1|z Yy
34109 (7.1]1.41]181[20]3.9]1.9(10.0/1.6]50] 4.2 |= B 2|40/
8.7 4.7 120.9 6.7 10.2] 6.4 |+ B|l7HA
4.6 1 3.3 6.1 27 ]12.4] 1.7 5. 2219.6 1049|778 # 1|75 4
1.1114.6]1.5[2.2]11.9]13.3[1.4]|51]|39|& # 2(7H 4
3511255 1.4]7.6[27]139]3.1(7.9|11.4]3.8]5.1]|= #lposy
29.433.8|37.6 56.9118.0120.0[20.5(51.8|24.7[32.5|30.2|&H)I1 (KB |RCT7H
29.4 |51 (0.5m (REUT7 A
20,5 |FHN1 (1.0m)|RCT7FH
27.1117.1]35.2 50.8115.916.0[10.2(49.8| 8.8 | 25.7|30.5|&HN2 (XKB)|RLT7H
25.2 |FH )2 (0.5m) | RCT7FH
1.6 |S%2 (0.0m[RST7H
37.1120.1]30.1 51.0117.616.9| 9.6 [54.7|15.2(28.0]30.7|&=HN3 (KB |RLT7H
28. T|S=F )13 (0.5m) | R 7#
10. 7| %) 3 (1.0m [RET7H




(2] Y>2(ug-at L) No. 3
H21 | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | 104 | Ri 3
10/28 | 11/4 1 10/31 | 10/31| 10/30| 10/30 | 11/4 | 11/1 [ 10/31|10/30| F13 | 10/29 AH
0.55]0.38]0.80(0.34 0. 69 0.5510.9110.57(0.60]0.52 |4 FloH A
0.5710.30 0.5610.68|10.66(0.67[0.71]0.99]|0.53/0.63]0.61]|% H|7H A
0.66 0.66|0.63 0.94(0.52]0.68 it Bl H A
0.7010.4010.76(0.55 0.69 0.62 ®H 1[7H
0.65]0.360.82(0.52 0.77 0.62 2 H 2|7 H A
0.7710.4210.92(0.54(0.79]0.7010.7210.63[0.99(0.57]0.71]0.62 |k & e F7H*
= 1[7H
= 2|7 hA
0.9710.6410.86(0.86(1.11]0.7510.87]0.79|"5 F B 1|7H
0.8110.69|0.67(0.63[0.95]|0.5510.72]0.71|"& P BT 2(7H*
0.59]0.33|0.54 0.59 0. 41 0.49 BB Fe| 7 A
=) b | 1(7H A4
g b 2(7AHA
=) b | 3(7AH A
0.60[0.40|10.63(0.32(0.73]0.48|0.41(0.41(1.00({0.38]|0.53]0.41| = 1l#o/ Yy
0.5310.3910.61(0.34(0.67[0.4710.30[0.43[0.75[0.38]|0.49]0.41| =& 2|8/
0.7010.4110.62(0.34(0.67]0.45|0.32|10.46[0.77[0.37]|0.51]0.42| =& 1A=
0.4410.9310.40(10.59]10.69|1 =& 4lpn/ )
0.6410.30(0.72(0.29]0.69|0.40 0.4510.83(0.37(0.52]0.40 pu N 1l#o/ Yy
0.6310.34(0.72(0.28]0.63|0.41 0.4710.74(0.32(0.50]0.68 N 2|8/
0.5310.39(0.61({0.30]1.34]0.46 0.4711.38(0.35[0.65]1.40 N 410/
0.4410.66|0.40 0.41 0.75(1.09(0.3010.58]0.87|F0n B & O|7H*
0.50]0.69|0.47 0.74 0.5410.83(0.31({0.58]|0.71|/n B B @|7h*
0.51]0.69]0.52 0.80 0.38(0.77(0.4210.58]0.72|}0n B & OQ|7H*
0.33]0.60]0.39 0.2510.4110.77 0. 46 5 ZloAH A
0.5310.26(0.62(0.36]0.61]0.3810.24(0.39(0.68]0.20|0.43]0.52|5 = 1lpo/ Y
0.5310.2510.59(0.35(0.56]0.33/0.24(0.38(0.77]0.19]0.42]0.53}|5 % 2|8/
0.5010.2710.58(0.33[0.55[0.3210.27(0.41({0.73]0.19]0.41]0.54|5 = 3y
0.4910.2610.54(0.32(0.56|0.36|0.2710.40(0.82(0.45|0.45]0.50 |+ 1= 1l#o/ Yy
0.5310.2510.53(0.34(0.57]0.31]0.2810.36(0.84(0.50|0.45]0.51 |+ = 2|8/
0.89 0.62 0. 81 0.66]1.02 0.80]0.78 |+ Bl7AH A
0.5010.3110.58(0.37[0.57]0.3210.24(0.39(0.61]0.20|0.41]0.54 |2 # 1[7H
0.2910.62|10.30({0.24(0.35{0.88|0.14(0.40]0.52|%&8 # 2|7 H A
0.45]10.3310.58(0.28(0.59]0.38]0.4810.45(0.68(0.18|0.44]0.58 |+ Hlyosy
1.4411.3110.48(0.33[0.38]0.3710.61(0.85(0.72]0.23]|0.67]0.72|E&N1(RE)|ASTH
0.73 |=% )11 0.5m) |RETFH
0.70 |=%)1 (1.0m [RET7H
1.4510.9110.59(0.62({0.42]0.36|0.58(0.71({0.69]0.25]|0.70]1.09 |&FEH)I2 (RE)|ACTH
0.99 |&=%)2 (0.5m|RCT7H
0.65|&F%F)2 (1.0mRCTH
1.5310.9410.54(0.69(0.47]0.3410.68(0.61(0.75]0.42]0.73]0.70|E&H)I3(RE)|ASTH
0.69|=% )11 3 (0.5m (RCTH
0.60|Z% )13 (1.0m|RTCT7H




[3] Xk & No. 3
H21 | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | 104 | Ri 3
10/28 | 11/4 | 10/31]10/31|10/30 | 10/30 | 10/27 | 11/1 | 10/31 | 10/30 | F15 | 10/29 AH

21.5120.5]122.0( 22 21.5 i |7 hH A
18.8(18.0118.4]122.0 |E H|7H 4

it BT AA

=z b | 1| T7HH

B b 2|7 hA

21.9121.6121.4(21.7(22.3120.0|22.0(21.6]22.6|Kk ®# & F|7H*4

S 1[7H

= 2|7 hA

B M B 1|7AA

B M B 2|7hHA

B P[4 A

=2} b 1[7H

B i 2|7 H A

=2} b 3|7 H A

21.2120.0]22.0(21.2(21.3 20.8121.1119.3(21.0(20.9]21.8|E I i A=PA
21.0120.5]122.0(21.5(21.5 20.8121.1119.8(20.6(21.0]21.9 |E I 2|8/
21.0120.3121.9(21.3(21.4 20.9121.0]20.0(20.8(21.0]21.9|E I 3o/
20.8119.5]120.6(20.3120.3|E I 4lpn/ )

20.8120.0]21.5[20.8(21.8]21.5 20.9(20.0120.3(20.8121.7 N i A=PA
20.8(19.8121.5120.8(22.0(21.5 21.0(17.2120.3]20.5119.8 N 2|8/
21.2119.2121.2(121.0(20.5(21.0 21.2(19.0119.0(20.4121.3 N 4o/
20. 1 19.5 20.2(17.8119.6119.4120.3|F0n B B O®O|7AH+

20. 2 20.2 19.8118.0(19.8(19.6]20.7|7n B & @|7hH

20.2 20. 1 19.9117.0(120.3(19.5]120.1|fn B & Q|7hH*

5 E|Th A

19.5(19.0(21.2| 21 19 19 20 [19.0(18.5(19.7]19.6 5 e 1lpo/ Y
19.5(19.0(21.2| 21 19 20 21 120.0(18.0(19.7]119.8 5 e 2|10/
20.0120.0]21.2| 21 19 20 20 120.0(18.0(19.9]19.9 5 = 3y
20.5120.5121.0(20.5(18.5121.8121.0[20.5(18.0(20.0]20.2]21.0 | =) i A=PA
20.5120.5121.0[20.0(18.5121.8121.0[20.5([18.0(19.8]20.2]21.0 | B 2|8/
es BloAHA

& # 1|ThA

& # 2(7Hh A

20.8119.2122.0| 21 22 22 22 |21.2 21.0121.1]21.6 |+ #|oosy
18.5(16.0(18.8| 19 16 18 19 126 (17.517.2118.8 |&&HI)I 1 (RB)|RCT7H
18.9[EFH )1 (0.5m | RT7A
19.6 |1 (0.0m|RST7H
18.4(17.0119.1] 21 16 19 19 12.5(20.0 [ 17.7119.0 |&&H)l 2 (RB) |R>T7H
19.0 |H &) 2 (0.5m) | RE7 A4
21.6 |S%)2 (1.om (RET7 A
18.0(16.8(19.5| 19 16 19 19 12.5(19.017.5]18.8 |&HI3 (RB)|RCT7H
18. 8| &)1 3 (0.5m) | R 7 #
21.0|1F&H N3 (1.0m) |RUT7H




(4] & % No. 3

H21 | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | 10& | Ri 3
10/28 | 11/4 | 10/31| 10/31 ] 10/30 | 10/30 | 10/27 | 11/1 | 10/31 | 10/30 | 5 | 10/29 AR
32.1(31.8]30.2(31.2 31.1 31.4129.8(30.2|31.0|31.5 4 (D H A
32.3(32.0 31.1130.131.2(31.4131.4(29.7130.2(31.0]31.5|% H|7H A4
32.3 31.2 29.7(30.3]30.9 it a7 h A
32.2(32.3]130.9(31.4 31.7 & i 1[ThA
32.3(32.2]130.8(31.5 31.7 -y i 2|7 H A
31.7(32.3130.4(31.5130.5(30.7131.9(32.1129.3[30.3[31.1|31.4k ® 1\ M|7HhA
= 1|ThA
= 2(7AA
31.0(32.1132.0(31.0130.0(30.9(31.2|31.3|"5 M HE 1|7Hh*
30.8(31.8131.9(32.1130.9(30.6|31.3|31.8|55 M HE 2|7HhA
32.4(32.6|31.5 31.3(32.0 31.9 # s P A A
=2 b 1|ThA
=2 b 2(7HA
52} i 3|THA
32.2(31.0131.3(31.4131.5(31.832.0131.9(30.5|31.2[31.5]|31.6|F I 1lpo/Y
32.2(32.2131.0(31.631.6(31.831.9132.1(31.0130.6[31.6]31.8|F I 2190/
32.3(32.3131.1(31.6]31.6[31.8131.9131.6[31.0130.8[31.6|31.6|F I 3o/
32.1(31.0]130.8(31.3]30.7| I 4|0/
31.7(32.1130.0(31.3]31.4(31.1 31.9(30.7(30.7(31.2]130.8 N 1lpo/ Y
32.1(32.0130.0(31.2]31.6(31.3 31.6[14.5(30.8[29.5]15.1 N 2190/
32.3(30.8130.7(31.5|24.8(31.2 32.1(27.1(28.2(29.8]22.4 N 4|0/
31.0(28.0]28.9 29.5 30.9124.9(29.2128.9)124.1|/0n B & @|7H*4
31.9(28.2130.2 31.1 31.0127.8(29.6130.0)127.3|/n B & Q|7h*4
31.9(28.1130.1 31.1 31.2128.3(30.2130.1]125.2|7n B & Q|7AH*4
32.1(28.1130.9 31.6(28.6 30. 2 = Z(oHA
32.1(32.3129.0(31.1124.1(29.9131.9(31.9]29.2130.4{30.2]25.8|% = 1|y
32.2(32.3129.1(31.0123.6(31.1132.0(31.8]28.6[30.5{30.2]25.5|% = 2190/
32.2(32.4128.9(31.2123.2(31.4132.1(32.3128.2130.6{30.2]26.6|% = 3o/
32.3(32.5128.8(31.4123.1(31.2(32.1131.9(27.8131.5([30.3]28.0]|+ =) 1lpo/ Y
32.2(32.7129.2(31.0122.0(31.2]32.1(29.2(27.2|131.4(29.8]28.0]|+ =) 21y0/Y
31.5 30.0]21.4 31.9 28.7121.7|% BloAA
30.4(23.3128.9(28.5|18.3(31.4(32.2131.8[16.6|31.4(27.3]16.6 | #t 1[ThA
31.1(24.1132.0(32.1132.0(20.5|30.6|28.9]28.0|% #t 2|7 H A
32.0(32.6130.9(31.0129.6(31.6(32.0[30.7[29.5]|31.3[31.1]30.3|# #loosy
28.0(25.01 9.4 (24.4] 2.6 [21.6]27.6(21.8] 0.0 [18.4[17.9]10.7|&&E)1 (xB)|RLT7H
11.3|EHF )1 0.5m|[RE7H
17.0|FF )11 (1.0m) [RE7H
27.7(27.7112.9(30.9] 3.8 [24.4]128.3(28.3| 0.1 27.3][20.5]11.3|&H)I2(XB|RCT7H
17.6 [ &)1 2 0.5m) (RCT7H
26.6 |2 (1.0m|RTH
24.8(25.8115.7(26.3| 3.1 (23.1127.6(27.8] 0.2 22.4]19.4]10.5|&E%)I3 (XB|RCT7H
10.5|F %11 3 (0.5m) [RE7H
23. 2|3 (0.0m|RSTH




